
Séquence de Nombres Linéaires (D)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 842 852 857Différence commune:2. 765 735 725 695 685Différence commune:3. 357 407 457 557 707 757 807Différence commune:4. 444 394 344 319Différence commune:5. 372 382 392 402 412 422 442 462Différence commune:6. 229 234 239 244 249 269Différence commune:7. 202 222 232 262 292Différence commune:8. 800 775 750 700 675 625 600Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (D) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 832 837 842 847 852 857 862 867 872 877Différence commune: 52. 765 755 745 735 725 715 705 695 685 675Différence commune: -103. 357 407 457 507 557 607 657 707 757 807Différence commune: 504. 544 519 494 469 444 419 394 369 344 319Différence commune: -255. 372 382 392 402 412 422 432 442 452 462Différence commune: 106. 229 234 239 244 249 254 259 264 269 274Différence commune: 57. 202 212 222 232 242 252 262 272 282 292Différence commune: 108. 825 800 775 750 725 700 675 650 625 600Différence commune: -25Mathslibres.com


